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QUESTION 1

To restore a backup file on a Windows-based computer, you:

A. Use the Disk Management utility in the Microsoft Management Console (MMC).
B. Use the BackupandRestore utility in the Control Panel.

C. Use Device Manager in the Control Panel.

D. Extract the backed-up file.

Correct Answer: B

QUESTION 2

On your Windows laptop, you store all your vacation photos and your entire digital music library. Concerned about data
loss, you perform frequent backups. Your laptop has recently been stolen and you need to restore your files to a
desktop computer. Which Windows tool would you use to recover and set up the saved copies of your files onto your
desktop computer?

A. Backup and Restore

B. Backup Recovery

C. System Recovery

D. System Restore

Correct Answer: A

QUESTION 3

Acme Corp. is a small manufacturing company. To reduce IT infrastructure costs, it uses cloud- based services
extensively and strives to have the least amount of IT equipment onsite. Last year, Acme suffered a failure that resulted
in significant down time and data loss. Management has decided to implement a continuous data protection (CDP)
solution. Which type of CDP solution best fits Acme\\'s situation?

A. Cloud-only solution

B. Local systems solution

C. Distributed network services provider

D. Contracted network services provider

Correct Answer: A

QUESTION 4
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Which of the following is a drawback to using Wired Equivalent Privacy (WEP)?
A. Wireless network overhead is excessive.

B. Symmetric-key encryption is susceptible to cracking.

C. The number of devices that can communicate using WEP is limited.

D. Encryption and decryption speeds are slower compared to other protocols.

Correct Answer: B

QUESTION 5

Cloud-computing enables mobile devices to provide users with access to a wide variety of applications and services.
Which of the following is a disadvantage of mobile devices?

A. Mobile devices cannot accommodate Web browsing.

B. Mobile devices cannot easily be used for checking e-mail.

C. Mobile devices cannot access software hosted on remote servers.

D. Mobile devices cannot accommodate large database installations or applications.

Correct Answer: D
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